Tuesday, March 27, 2018 A

EE 382 Applied EM Quiz #5 (Spring 2018)
Name K e/ ﬁ

Instructions: Closed book. Place answers in indicated spaces and show all work for credit.

A 1+]T| Z ()= 1+F(z)
+Z, 1-jrp” ™ ] I'(z)’

Equations: I', = . SWR=

, distance = velocity x time, V=1R
For the transmission line circuit shown, calculate the load reflection coefficient I'; and generator reflection
coefficient Iy, one-way transit time 7, and initial & steady-state current & voltage at z=0. Then, draw a
voltage bounce diagram for 0 <7 <37, and sketch (0, f) for 0 <r<37. Given: Vo ()=50 u(f) V, R, =50,
Zp=75€, R,=175Q, u=1.25x10* m/s, and / =250 m.
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Tuesday, March 27, 2018 B

EE 382 Applied EM Quiz #5 (Spring 2018)

Name ke.v
Instructions: Closed book. Place answers in indicated spaces and show all work for credit.
7 -
Equations: T’ = —'1‘-—-2—0, SWR = 1+[1"!, Z (2)=2, 1) , distance = velocity x time, V'=1IR
Z.+Z, 1-|T| *1-T(z)

For the transmission line circuit shown, calculate the load reflection coefficient I'; and generator reflection
coefficient I'y, one-way transit time 7, and initial & steady-state current & voltage at z=0. Then, draw a
voltage bounce diagram for 0 <¢<37, and sketch (0, #) for 0 <t <37. Given: Vg(£)=60 u(t) V, R,=25Q,

Zo=75, R, =300Q, u=1.75x 108 m/s, and /=525 m. 257,
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OLt <Gus = I//o,t): Uabal= 45V 6<2 <I2ys Vigt)= 45+ 27-13.5=S6.3V
I, = CZ, [2 T,= — 0. 5 T= Sf,df Initial current = __ &, _é A
Initial voltage = 1'/5 l/ S.S. current = 0:/ él/é ’4 S.S. voltage = 5.5: 385 l/
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